Cell count

Cell count

Cell count

100 =

80 =

60 =

40 =

20 =

SOX17+
96.1

100 =

40 =

SOX17+
96.4

100 =

80 =

60 =

40 =

SOX17+
96.9

SOX17+

190 PBMC SeV ENDO

Cell count

190 Tie2+ SeV ENDO

Cell count

191 PBMC SeV ENDO

Cell count

100 =
80 = CD184+
] 96.1
60 =
40 =
20 =
o]
W T T ™
3 5
10 10 10
CD184
100 =
80 = CD184+
] 93.9
60 =
40 =
20 =
o]
T T T T
4 5
0 10 10 10
CD184
100 =
80 = CD184+
] 96.0
60 =
40 =
20 =
o]
T T T T
3 4 5
0 10 10 10

CD184




Cell count

Cell count

Cell count

100 =

40 =

SOX17+

99.3

100 =

80 =

60 =

40 =

20

SOX17+
99.0

0

T

10

SOX17

10

5
10

SOX17+
98.6

L]
0

T

10

SOX17

10

5
10

191 Tie2+ SeV ENDO

Cell count

192 PBMC SeV ENDC

Cell count

192 Tie2+ SeV ENDO

Cell count

100 =
CD184+
80 = 98.6
60 =
40 =
20 -
0
T T ™
103 104 105
CD184
100 =
1 CD184+
80 =
] 97.1
60 =
20
204
o
T T T ™
3 4 5
10 10 10
cD184
100 =
80 = CD184+
97.8
60 =
40 =
204
0
T T T ™
3 4 5
10 10 10




